BCNS - 36" DUAL BELT CONVEYOR

ITISNOT TO BE USED OR REPRODUCED WITHOUT THE PERMISSION FROM AVW CO.

DRAWN BY Jose cusTOMER: AVW EQUIPMENT CO.
AVW EQUIPMENT CO., INC.
105 S. 9TH AVENUE
MAYWOOD, IL 60153 CHECKED BY PROJECT: BCN5 - 36" DUAL BELT CONVEYOR
Tel: 708-343-7738 Fax: 708-343-9065
WWW.AVWEQUIPMENT.COM
Qty DESCRIPTION: 36" DUAL BELT CONVEYOR
- COMPANY PROPRIETARY NOTE - R%fT‘ESE 3/18/2020 PART NUMBER: BCN5 REV# 4
THIS DRAWING AND ITS DESIGNS ARE PROPERTY OF AVW EQUIPMENT CO. &

DIMENSION ARE IN INCHES & PROVIDED PRIOR
TO SURFACE TREATMENTS, UNLESS NOTED.

SIZE

A

EST WEIGHT: 4733 |bmass

SHEET 1 of 57

PATH:L:\Designs\Product Lines\Conveyors\BCNS5 - 36" Belt\BCN5 - 36in Belt Conveyor.iam




REVISION HISTORY

ECO No. REV DESCRIPTION DATE |ENGINEER|APPROVED
INITIAL RELEASE 03/18/2020
1. Change Take up section to 60" from 44" and Driev section to 60" from 46"
2. Transfer Plate brackets, Bearing pillow block mounting angle material changed to Stainless Steel
CONOA 3 3. Same Bearing Pillow Block used for both sections 9/28/2020 Jose D i
4. Take-up drum bigger to fit bigger pillow block Ortega usan fie
5. Redesigned drain channel
6. Stainless steel holder designed for manifold and drain pan
1. Added 1/2" SS plates below take-up section transfer plates for BCN3,BCN4,BCN5 to prevent wheel roll ] ]
CONO09 4 5/12/2021 | Tittu Paul Dusan llic
back from conveyor
1. Changed design of Pillow block mounting channel design to have more space to install chain coupling
CON10 5 link without obstructions (Sheet No: 53) 09/24/2021 | Tittu Paul Dusan llic
2. Added Support channel below drive section Gear Motor mounting plate
AVW EQUIPMENT CO.. INC DRAWN BY Jose cusTOMER: AVW EQUIPMENT CO.
105 S. 9TH AVENUE.’ ’
MAYWOOD, IL 60153 CHECKED BY PROJECT: BCN5 - 36" DUAL BELT CONVEYOR
Tel: 708-343-7738 Fax: 708-343-9065
WWW.AVWEQUIPMENT.COM
QTy DESCRIPTION:
- COMPANY PROPRIETARY NOTE - RELEASE 3/18/2020 PART NUMBER: REV# 4

DATE
THIS DRAWING AND ITS DESIGNS ARE PROPERTY OF AVW EQUIPMENT CO. &

ITISNOT TO BE USED OR REPRODUCED WITHOUT THE PERMISSION FROM AVW CO.

DIMENSION ARE IN INCHES & PROVIDED PRIOR
TO SURFACE TREATMENTS, UNLESS NOTED.

SIZE

A

EST WEIGHT:

SHEET 2 of 57

PATH:




BCNS5 - 36" DUAL BELT CONVEYOR

240"
DF(__
— (
111"
_— q

120"

. 60° MIDDLE SECTION

TAKE-UP SECTION

60" .
DRIVE SECTION

427" ! 26" ! 427"

DRAWN BY Jose

AVW EQUIPMENT CO., INC.

cusTOMER: AVW EQUIPMENT CO.

105 S. 9TH AVENUE
MAYWOOD, IL 60153 CHECKED BY
Tel: 708-343-7738 Fax: 708-343-9065

PROJECT: BCN5 - 36" DUAL BELT CONVEYOR

WWW.AVWEQUIPMENT.COM

THIS DRAWING AND ITS DESIGNS ARE PROPERTY OF AVW EQUIPMENT CO. &

Qty DESCRIPTION: 36" DUAL BELT CONVEYOR
- COMPANY PROPRIETARY NOTE - R%LET‘}ESE 3/18/2020 PART NUMBER: BCN5 REV# 4

ITISNOT TO BE USED OR REPRODUCED WITHOUT THE PERMISSION FROM AVW CO. DIMENSION ARE IN INCHES & PROVIDED PRIOR

TO SURFACE TREATMENTS, UNLESS NOTED.

SIZE
A EST WEIGHT: 4733 |bmass

SHEET 3 of 57

PATH:L:\Designs\Product Lines\Conveyors\BCNS5 - 36" Belt\BCN5 - 36in Belt Conveyor.iam




BCNS5 - 36" DUAL BELT CONVEYOR

Parts List

ITEM QTY DESCRIPTION
1 1 36" BELT W/ NO PUSHERS
2 1 36" BELT W/ T1" & T2" PUSHERS
3 1 DRIVE SECTION
4 7 FIBERGLASS GRATING
5 8 GLIDE PLATE #3/16" x 18" x 43 1/2"
6 4 GLIDE PLATE #3/16" x 18" x 60"
7 4 GUIDE RAIL STRIP #14Ga. x 3" x 1" x 24" LG.
8 12 GUIDE RAIL STRIP #14Ga. x 3" x 1" x 60"
9 2 MIDDLE SECTION
4 RETURN BELT GUIDE
1 TAKE-UP SECTION

NOTE: BELTS NOT SHOWN

DRAWN BY Jose cusTOMER: AVW EQUIPMENT CO.
AVW EQUIPMENT CO., INC.
105 S. 9TH AVENUE
MAYWOOD, IL 60153 CHECKED BY PROJECT: BCN5 - 36" DUAL BELT CONVEYOR
Tel: 708-343-7738 Fax: 708-343-9065
WWW.AVWEQUIPMENT.COM
Qty DESCRIPTION: 36" DUAL BELT CONVEYOR
- COMPANY PROPRIETARY NOTE - R%fT‘ESE 3/18/2020 PART NUMBER: BCN5 REV# 4
THIS DRAWING AND ITS DESIGNS ARE PROPERTY OF AVW EQUIPMENT CO. &
IT IS NOT TO BE USED OR REPRODUCED WITHOUT THE PERMISSION FROM AVW CO. SIZE
DIMENSION ARE IN INCHES & PROVIDED PRIOR
TO SURFACE TREATMENTS, UNLESS NOTED. A ESTWEIGHT: 4733 lbmass SHEET 4 of 57

PATH:L:\Designs\Product Lines\Conveyors\BCNS5 - 36" Belt\BCN5 - 36in Belt Conveyor.iam




BCNS - 36" DUAL BELT CONVEYOR

Parts List

ITEM QTY DESCRIPTION
1 1 36" BELT W/ NO PUSHERS
2 1 36" BELT W/ T1" & T2" PUSHERS
DRAWN BY Jose cusTOMER: AVW EQUIPMENT CO.
AVW EQUIPMENT CO., INC.
105 S. 9TH AVENUE
MAYWOOD, IL 60153 CHECKED BY PROJECT: BCN5 - 36" DUAL BELT CONVEYOR
Tel: 708-343-7738 Fax: 708-343-9065
WWW.AVWEQUIPMENT.COM
Qty DESCRIPTION: 36" DUAL BELT CONVEYOR
- COMPANY PROPRIETARY NOTE - R%LET‘}ESE 3/18/2020 PART NUMBER: BCN5 REV# 4

THIS DRAWING AND ITS DESIGNS ARE PROPERTY OF AVW EQUIPMENT CO. &
ITISNOT TO BE USED OR REPRODUCED WITHOUT THE PERMISSION FROM AVW CO.

DIMENSION ARE IN INCHES & PROVIDED PRIOR | SIZE
TO SURFACE TREATMENTS, UNLESS NOTED. A

EST WEIGHT: 4733 |bmass

SHEET 5 of 57

PATH:L:\Designs\Product Lines\Conveyors\BCNS5 - 36" Belt\BCN5 - 36in Belt Conveyor.iam




BCN1-RBG-0121 - RETURN BELT GUIDE

=
©

va

Parts List
ITEM QTY DESCRIPTION
1 1 3/4" Collar
2 1 3/4" OD Shaft Holder
3 2 3/8"-16 x 1" UNC HEX SCREW
4 2 3/8" - 16 x 3" UNC Hex Bolt
5 4 3/8" N Flat Washer
6 2 3/8" Split Lock Washer
g 7 2 3/8"-16 18-8ss Heavy Hex Nut
8 1 Gusset #3/16" x 1 1/4" x 1 1/4"
9 1 Plate#1/4" x 2" x 6 1/2" LG.
) 10 1 Plate #1/4" x 10" x 2.5"
O 8%" 11 1 SS Shaft 3/4" D x 8" LG
e 12 1 UHMW Roller O.D 2 3/8" x I.D. 13/16" x 5 3/4" LG
dl°®
13%6" ['JJ
A
AVW EQUIPMENT CO., INC. DRAWN BY Jose cusTOMER: AVW EQUIPMENT CO.
h}‘;ﬁgg‘;f‘,{i’;? 5E3 CHECKED BY PROJECT: BCN5 - 36" DUAL BELT CONVEYOR
Tel: 708-343-7738 Fax: 708-343-9065
W AVIVEQUIPMENT.COM ary pescripTioN: RETURN BELT GUIDE
- COMPANY PROPRIETARY NOTE - RELEASE 3/18/2020 PART NUMBER: BCN1-RBG-0121 REV# 4
THIS DRAWING AND ITS DESIGNS ARE PROPERTY OF AVW EQUIPMENT CO. &

PATH:L:\Designs\Product Lines\Conveyors\DBC - Dual Belt Conveyor\Parts\DBCRBG0413 - 0413 Return Belt Guide\DBCRBG0413 - 0413 Return Belt Guide.iam




RETURN BELT GUIDE - Parts

’7 1%e"

1/2||

10"

5%s"

5 (X2) B

4%6"

14"

upP 90°"

214

1%6"

FORMED

(X2) 3/8-16 UNC - 2B"

5/8“

19" —

FLAT PATTERN

RVZ“

DRAWN BY Jose cusTOMER: AVW EQUIPMENT CO.
AVW EQUIPMENT CO., INC.
105 S. 9TH AVENUE
MAYWOOD, IL 60153 CHECKED BY PROJECT: BCN5 - 36" DUAL BELT CONVEYOR
Tel: 708-343-7738 Fax: 708-343-9065
WWW.AVWEQUIPMENT.COM
QT DESCRIPTION: Plate #1/4" x 10" x 2.5"
- COMPANY PROPRIETARY NOTE - RELEASE 3/18/2020 PART NUMBER: BCN1-RBG-0121C REV# 4

THIS DRAWING AND ITS DESIGNS ARE PROPERTY OF AVW EQUIPMENT CO. &
ITISNOT TO BE USED OR REPRODUCED WITHOUT THE PERMISSION FROM AVW CO.

DIMENSION ARE IN INCHES & PROVIDED PRIOR | SIZE
TO SURFACE TREATMENTS, UNLESS NOTED.

A EST WEIGHT:

SHEET 7 of 57

PATH:L:\Designs\Product Lines\Conveyors\DBC - Dual Belt Conveyor\Parts\DBCRBG0413 - 0413 Return Belt Guide\Parts\DBCRBG0413002A [REV002].ipt




RETURN BELT GUIDE - Parts

61/2“
Y6" 576" %6" "
4 N\ :
e &
1 n
l \. k B
R%ll
\—(X2) %" TYP.
51"
R%s"
R2"
R%" R1/8" R5/8"
R1"%6" A
3% " : 1%
5/3" R1%s"

R1/8"

gir/

R%6"

12"
DRAWN BY Jose cusTOMER: AVW EQUIPMENT CO.
AVW EQUIPMENT CO., INC.
105 S. 9TH AVENUE
MAYWOOD, IL 60153 CHECKED BY PROJECT: BCN5 - 36" DUAL BELT CONVEYOR
Tel: 708-343-7738 Fax: 708-343-9065
WWW.AVWEQUIPMENT.COM
Qry DESCRIPTION: Plate#1/4" x 2" x 6 1/2" LG.
- COMPANY PROPRIETARY NOTE - RELEASE 3/18/2020 PARTNUMBER: BCN1-RBG-0121B REV# 4
THIS DRAWING AND ITS DESIGNS ARE PROPERTY OF AVW EQUIPMENT CO. &
IT 1S NOT TO BE USED OR REPRODUCED WITHOUT THE PERMISSION FROM AVW CO. SIZE
DIMENSION ARE IN INCHES & PROVIDED PRIOR
TO SURFACE TREATMENTS, UNLESS NOTED. A EST WEIGHT: SHEET 8 of 57

PATH:L:\Designs\Product Lines\Conveyors\DBC - Dual Belt Conveyor\Parts\DBCRBG0413 - 0413 Return Belt Guide\Parts\DBCRBG0413009 [REV002].ipt




FIBERGLASS GRATING

|—

194" —=—e]

\\

VAV
VAV,

NN

VAV,
\ 0W

W

X

VAVAVA

AN

A,

»«»«»«»«»«»«»«»«»«»«»«»«»«»«»,/
MNNNNNNNNNNNNN

WVAAD

«»«».W 4»«»«»&»1 WA vmvmv«»«r.
VAV AY AV AYAY AV AV AV AV AV AVAVAVAVA
WVAANNAAAANANANANANAN

VAYAVAVAVAVAVAVAVAVAVAT, W
WAAN

1

CUSTOM LENGTH

N~
[
< k]
3+
ES o
w [
hd w
w
I
2]
%
X
=
x <
o N
> x
w k o
> ~ =
z ~ =
(o] x £
. o = O]
Sl=|%|3
[©] — 3
= w 2 K]
z ) = =
w - © 2
= < |0 T
o 2 * .
= o 7] ' [
2 = © [se) 5
(] © > z ]
w el 5 @) M
.
=3 T - T L
> b4 w s a
< &) z i
4 2] ] o
w = = =
= 5 a 3
o) o o w
@ 3 | 8 g N
2 x w < |®
o o o o
x .
o8
4
ag
g |82
9 Q |28
8 S 1z4
= < WN
I
=0
Nz
Tw
F=
5
&
Py 4
& o w <8
z | 8|z 2]z
s | 5| 5 |us|2ok
< [ oo | »
g jir} >
=) I 4 Z 0
3] WO
=
a
o]
8
. , 22
(@) oz
z 3 wres
= 8= =z
owdss [Qi:
2=9¢ Z 5%
Ozogt 32
c88%8 > 22
Z = %E Xs=
WrgEs < it
=E03¢ o
PQOUW wEE
—_— . N x =
USWS —_ D
S9% a0
o8x3: |Xe:
mw==8s |Q sz
2 w
W =2 OMD
5 2
S = Rmm
< ags
> 8
&
@
ZEes
<L 20
o<
© 4
=z2
0zs
=
Q&L
, 20
Iz
Fa
=

PATH:L:\Designs\Product Lines\Conveyors\BCN3 - Dual Belt Conveyor 30in\Parts\BCN3 - Fiberglass Grating.ipt




GUARD RAIL STRIPS

24"
|__‘_ m
14 Ga. 3"
(0.0747)"
4% 60"
S
3 SS

_1J=
14 Ga.
(0.0747)"

DRAWN BY Jose cusTOMER: AVW EQUIPMENT CO.

AVW EQUIPMENT CO., INC.

105 S. 9TH AVENUE
MAYWOOD, IL 60153 CHECKED BY PROJECT: BCN5 - 36" DUAL BELT CONVEYOR

Tel: 708-343-7738 Fax: 708-343-9065

WWW.AVWEQUIPMENT.COM

ary pescrIPTION: GUIDE RAIL STRIP #14Ga. x 3" x 1" x 60"
- COMPANY PROPRIETARY NOTE - RELEASE 3/18/2020 PART NUMBER: BCN31-300 REV# 4
THIS DRAWING AND ITS DESIGNS ARE PROPERTY OF AVW EQUIPMENT CO. &
IT1S NOT TO BE USED OR REPRODUCED WITHOUT THE PERMISSION FROM AVW CO. SiZE
DIMENSION ARE IN INCHES & PROVIDED PRIOR
TO SURFACE TREATMENTS, UNLESS NOTED. A EST WEIGHT: SHEET 10 of 57

PATH:L:\Designs\Product Lines\Conveyors\BCN3 - Dual Belt Conveyor 30in\Parts\BCN3 - Glide Plates\BCN3 -Guide Rail Strips 60in LG.ipt




GLIDE PLATES

42%"
43%"
— |-—%" %ll_-| e
I_ o
a o
o
3 &
% gl 18"
3 3|
!D DI
4
T f ]
34!!
59%" —A 60"
— ‘_58" 5/8"_’ e
18" I I
é % % 08 18"
| |
o o 8
) )
| |
I I
T '
3/4“
DRAWN BY Jose cusTOMER: AVW EQUIPMENT CO.
AVW EQUIPMENT CO., INC.
105 S. 9TH AVENUE
MAYWOOD, IL 60153 CHECKED BY PROJECT: BCN5 - 36" DUAL BELT CONVEYOR
Tel: 708-343-7738 Fax: 708-343-9065
WWW.AVWEQUIPMENT.COM
Qty DESCRIPTION: GLIDE PLATE #3/16" x 18" x 43 1/2"
- COMPANY PROPRIETARY NOTE - RELEASE 3/18/2020 PART NUMBER: BCN5GP316x18x43.5 REV# 4
THIS DRAWING AND ITS DESIGNS ARE PROPERTY OF AVW EQUIPMENT CO. &
IT IS NOT TO BE USED OR REPRODUCED WITHOUT THE PERMISSION FROM AVW CO. SIZE
DIMENSION ARE IN INCHES & PROVIDED PRIOR
TO SURFACE TREATMENTS, UNLESS NOTED. A EST WEIGHT: SHEET 11 of 57

PATH:L:\Designs\Product Lines\Conveyors\BCNS5 - 36" Belt\Parts\BCN5 - Guide Plates\BCN5 -Drive Glide Plate 41-3_4in.ipt




BCNSA - TAKE-UP SECTION

‘ 111" '
p 36“
u L
60" L L
—— ——
421" 26" 421"

39"

60" '
85/8"
95/8"
23" 24"
14%"
39" 42" 18"—
AVW EQUIPMENT CO.. INC DRAWN BY Jose cusTOMER: AVW EQUIPMENT CO.
105 S. 9TH AVENUE.’ ’ .
MAYWOOD, IL 60153 CHECKED BY PROJECT: BCN5 - 36" DUAL BELT CONVEYOR
Tel: 708-343-7738 Fax: 708-343-9065
WWW.AVWEQUIPMENT.COM
Qty DESCRIPTION: TAKE-UP SECTION
- COMPANY PROPRIETARY NOTE - R%fT‘ESE 3/18/2020 PART NUMBER: BCN5A REV# 4
THIS DRAWING AND ITS DESIGNS ARE PROPERTY OF AVW EQUIPMENT CO. &

ITISNOT TO BE USED OR REPRODUCED WITHOUT THE PERMISSION FROM AVW CO.

DIMENSION ARE IN INCHES & PROVIDED PRIOR
TO SURFACE TREATMENTS, UNLESS NOTED.

SIZE

A

EST WEIGHT: 907 Ibmass

SHEET 12 of 57

PATH:L:\Designs\Product Lines\Conveyors\BCN5 - 36" Belt\BCN5 - Take-Up Section\BCN5 - Take-Up Assembly with Parts.iam




Parts List

ITEM | QTY DESCRIPTION
BCNS - TAKE-UP SECTION 1 4 [1/2"-13 UNC x 2 1/2" LG. HEX SCREW
2 2 [1/2-13 Hex Nut
3 8  |1/4" FLAT WASHER
4 16 |1/4"-20 Hex Nut
5 16 |3/4" FLAT WASHER
6 8  |3/4" SPLIT LOCK WASHER
7 8  [3/4"-10 HEX NUT
8 8 [3/4"-10 UNC x 3 1/2" LG. HEX SCREW
9 2 [3/8"-16 x 1" UNC HEX SCREW
10 6 |3/8" FLAT WASHER
N 11 4 |3/8"-16 18-8ss Heavy Hex Nut
£ 12 2 |3/8"-16 UNC x 1" LG. FLAT HEAD CAP SCREW
2 13 2 |44" MANIFOLD ASSEMBLY
o 14 2 |DRAIN TROUGH
o~ 15 4  |PILLOW BLOCK 2 15/16"
16 4 |Round UBoltD 1/4" x 1" x 2" L
TN 17 2 |Round U-Bolt D 1/4" x 3/4" x 2 1/4" L
s 18 2 |SUPPORT ROLLER
B N 19 2 |TAKE-UP DRUM
<3 20 1 |TAKE-UP SECTION_WELDMENT
21 1 |TRANSFER PLATE F/ TAKE-UP (DRIVER SIDE)
22 1 |TRANSFER PLATE F/ TAKE-UP SECTION (PASSENGER SIDE)
AVW EQUIPMENT CO., INC. DRAWN BY Jose cusTOMER: AVW EQUIPMENT CO.
h}%ﬁ%gg’m}_’%ﬁ% CHECKED BY PROJECT: BCN5 - 36" DUAL BELT CONVEYOR
Tel: 708-343-7738 Fax: 708-343-9065
W AVIVEQUIPMENT.COM ary DESCRIPTION: TAKE-UP SECTION

PATH:L:\Designs\Product Lines\Conveyors\BCN5 - 36" Belt\BCN5 - Take-Up Section\BCN5 - Take-Up Assembly with Parts.iam




BCNS5A - TAKE-UP SECTION

DETAIL A

DETAIL B

DETAIL C

DRAWN BY Jose cusTOMER: AVW EQUIPMENT CO.
AVW EQUIPMENT CO., INC.
105 S. 9TH AVENUE
MAYWOOD, IL 60153 CHECKED BY PROJECT: BCN5 - 36" DUAL BELT CONVEYOR
Tel: 708-343-7738 Fax: 708-343-9065
WWW.AVWEQUIPMENT.COM
QT DESCRIPTION: TAKE-UP SECTION
- COMPANY PROPRIETARY NOTE - R%fTAESE 3/18/2020 PART NUMBER: BCN5A REV# 4
THIS DRAWING AND ITS DESIGNS ARE PROPERTY OF AVW EQUIPMENT CO. &
IT IS NOT TO BE USED OR REPRODUCED WITHOUT THE PERMISSION FROM AVW CO. SIZE
DIMENSION ARE IN INCHES & PROVIDED PRIOR
TO SURFACE TREATMENTS, UNLESS NOTED. A ESTWEIGHT: 907 Ibmass SHEET 14 of 57

PATH:L:\Designs\Product Lines\Conveyors\BCN5 - 36" Belt\BCN5 - Take-Up Section\BCN5 - Take-Up Assembly with Parts.iam




BCNSA - TAKE-UP SECTION

DETAIL A
(4 PLCS.)

DRAWN BY Jose cusTOMER: AVW EQUIPMENT CO.
AVW EQUIPMENT CO., INC.
105 S. 9TH AVENUE
MAYWOOD, IL 60153 CHECKED BY PROJECT: BCN5 - 36" DUAL BELT CONVEYOR
Tel: 708-343-7738 Fax: 708-343-9065
WWW.AVWEQUIPMENT.COM
QT DESCRIPTION: TAKE-UP SECTION
- COMPANY PROPRIETARY NOTE - R%fTAESE 3/18/2020 PART NUMBER: BCN5A REV# 4
THIS DRAWING AND ITS DESIGNS ARE PROPERTY OF AVW EQUIPMENT CO. &
IT IS NOT TO BE USED OR REPRODUCED WITHOUT THE PERMISSION FROM AVW CO. SIZE
DIMENSION ARE IN INCHES & PROVIDED PRIOR
TO SURFACE TREATMENTS, UNLESS NOTED. A ESTWEIGHT: 907 Ibmass SHEET 15 of 57

PATH:L:\Designs\Product Lines\Conveyors\BCN5 - 36" Belt\BCN5 - Take-Up Section\BCN5 - Take-Up Assembly with Parts.iam




BCNSAA - TAKE-UP SECTION_WELDMENT

111"
1" —] 1"
I 361/2" 28" I I 361/2“
<_| C
9 9 9 9
iw { 17 (]
18" h
1 1 1 1 31"
1 1 FLUSH W/
ANGLE BTTM FLUSH W/
s | b | 41e a1 ||| i OUTER HOLDER
DETAIL A
I OUTER HOLDERS
%ll %ll C ( )
39" 26" 39" DETAIL B
60" (INNER HOLDER)
74m
‘|/2|| 6 8
= -
P o - <3
VY
230 \\ A 24"
14%"
1
13/4" 32“ ‘716"4‘ 11/2“
F—13%"— [—13%"— F—13%"— [—13%"—
AVW EQUIPMENT CO.. INC DRAWN BY Jose cusTOMER: AVW EQUIPMENT CO.
105 S. 9TH AVENUE.’ ’
MAYWOOD, IL 60153 CHECKED BY PROJECT: BCN5 - 36" DUAL BELT CONVEYOR
Tel: 708-343-7738 Fax: 708-343-9065
WWW.AVIWEQUIPMENT.COM ary DESCRIPTION: TAKE-UP SECTION_WELDMENT
- COMPANY PROPRIETARY NOTE - RELEASE 3/18/2020 PART NUMBER: BCN5AA REV# 4
THIS DRAWING AND ITS DESIGNS ARE PROPERTY OF AVW EQUIPMENT CO. & DATE
IT IS NOT TO BE USED OR REPRODUCED WITHOUT THE PERMISSION FROM AVW CO.
opssense e souosorner | 52 T corveion 759 omase SHEET 16 ars7

PATH:L:\Designs\Product Lines\Conveyors\BCN5 - 36" Belt\BCN5 - Take-Up Section\BCN5 - Take-Up Section.iam




BCNS5AA - TAKE-UP SECTION_WELDMENT

— (5)" —
TYP.

2%"
TYP.

60"

31u

6%"

11/2||

Al

=

00

15%"  14%" = 14%"
11%" 11"
— — =
—
1%"
32" 16"
AVW EQUIPMENT CO.. INC DRAWN BY Jose cusTOMER: AVW EQUIPMENT CO.
105 S. 9TH AVENUE.’ ’ .
MAYWOOD, IL 60153 CHECKED BY PROJECT: BCN5 - 36" DUAL BELT CONVEYOR
Tel: 708-343-7738 Fax: 708-343-9065
W AVIWEQUIPMENT.COM ary pESCRIPTION: TAKE-UP SECTION_WELDMENT
- COMPANY PROPRIETARY NOTE - R%fT‘ESE 3/18/2020 PART NUMBER: BCN5AA REV# 4

THIS DRAWING AND ITS DESIGNS ARE PROPERTY OF AVW EQUIPMENT CO. &
ITISNOT TO BE USED OR REPRODUCED WITHOUT THE PERMISSION FROM AVW CO.

DIMENSION ARE IN INCHES & PROVIDED PRIOR
TO SURFACE TREATMENTS, UNLESS NOTED.

SIZE

A

EST WEIGHT: 759 |bmass

SHEET 17 of 57

PATH:L:\Designs\Product Lines\Conveyors\BCN5 - 36" Belt\BCN5 - Take-Up Section\BCN5 - Take-Up Section.iam




ITEM QTY DESCRIPTION
1 16 1/2" - 13 x 1.25" UNC Hex Screw
BCN5AA - TAKE-UP SECTION_WELDMENT 2 16 |1/2-13 Hex Nut
3 2 Angle #1/4" x 2" 1 1/2" x 41 1/2" LG.
4 2 Angle #1/4" x 2" x 3" x 16" LG.
5 8 Angle #1/4" x 2" x 3" x 32" LG.
6 2 Channel #.19x 1 1/2" x 3" x 28 1/2" LG.
7 2 Channel #.19 x 1 1/2" x 3" x 40" LG.
8 1 Channel #.19 x 1 1/2" x 3" x 107 1/2" LG.
9 12 Channel #.19 x 1 3/4" x 5" x 39" LG.
10 6 Channel #1/4 x 1 3/4" x 5" x 23 3/4" LG.
11 8 Channel #0.190" x 1 3/4" x 5" x 23" LG.
12 4 Diamond Plate #1/4" x 2" x 2" LG.
13 4 DRAIN TROUGH HOLDER
14 2 Plate #(1/4") x 3 5/8" x 17 1/2" LG.
15 2 Plate #(1/4") x 3 5/8" x 17 1/2" LG.
16 2 Plate #1/4" x 5" x 42 1/2" LG.
17 2 Plate #1/4" x 31" x 36" LG.
18 4 Plate #5/16 x 3 1/4" x 2 1/2"
19 8 Plate #5/16" x 1 1/2" x 2 3/16" LG.
20 4 Plate #5/16" x 2 1/2" x 3 1/4" LG.
21 2 REMOVABLE TRANSFER PLATE MOUNTING BRACKET [LEFT]
22 2 REMOVABLE TRANSFER PLATE MOUNTING BRACKET [RIGHT]
23 4 SS Sheet Metal #10Ga (0.1345 in) x 2" x 2 1/4" LG.
24 4 Plate #5/16" x 1 3/4" x 2" LG.
25 1 Angle #1/4" x 2" x 3" x 111" LG.
AVW EQUIPMENT CO.. ING. DRAWN BY Jose CUSTOMER: AVW EQUIPMENT CO.
AYWOOD L 80153 CHECKED BY PROJECT: BCN5 - 36" DUAL BELT CONVEYOR
Tel: 708-343-7738 Fax: 708-343-9065
WWW.AVIWEQUIPMENT.COM ary DESCRIPTION: TAKE-UP SECTION_WELDMENT
- COMPANY PROPRIETARY NOTE - RELEASE 3/18/2020 PART NUMBER: BCNS5AA REV# 4

THIS DRAWING AND ITS DESIGNS ARE PROPERTY OF AVW EQUIPMENT CO. &
ITISNOT TO BE USED OR REPRODUCED WITHOUT THE PERMISSION FROM AVW CO.

DATE

DIMENSION ARE IN INCHES & PROVIDED PRIOR
TO SURFACE TREATMENTS, UNLESS NOTED.

SIZE
A EST WEIGHT: 759 |bmass

SHEET 18 of 57

PATH:L:\Designs\Product Lines\Conveyors\BCN5 - 36" Belt\BCN5 - Take-Up Section\BCN5 - Take-Up Section.iam




’0

BCNS5AA - TAKE-UP SECTION_WELDMENT

DETAIL A

DETAIL B

DRAWN BY Jose cusTOMER: AVW EQUIPMENT CO.
AVW EQUIPMENT CO., INC.
105 S. 9TH AVENUE
MAYWOOD, IL 60153 CHECKED BY PROJECT: BCN5 - 36" DUAL BELT CONVEYOR
Tel: 708-343-7738 Fax: 708-343-9065
W AVIWEQUIPMENT.COM ary pESCRIPTION: TAKE-UP SECTION_WELDMENT
- COMPANY PROPRIETARY NOTE - R%fTAESE 3/18/2020 PART NUMBER: BCN5AA REV# 4
THIS DRAWING AND ITS DESIGNS ARE PROPERTY OF AVW EQUIPMENT CO. &
IT 1S NOT TO BE USED OR REPRODUCED WITHOUT THE PERMISSION FROM AVW CO. SIZE

DIMENSION ARE IN INCHES & PROVIDED PRIOR
TO SURFACE TREATMENTS, UNLESS NOTED.

A

EST WEIGHT: 759 |bmass

SHEET 19 of 57

PATH:L:\Designs\Product Lines\Conveyors\BCN5 - 36" Belt\BCN5 - Take-Up Section\BCN5 - Take-Up Section.iam




BCNSAA - TAKE-UP SECTION_WELDMENT

DETAIL A

DRAWN BY Jose cusTOMER: AVW EQUIPMENT CO.
AVW EQUIPMENT CO., INC.

105 S. 9TH AVENUE
MAYWOOD, IL 60153 CHECKED BY PROJECT: BCN5 - 36" DUAL BELT CONVEYOR

Tel: 708-343-7738 Fax: 708-343-9065

WWW.AVWEQUIPMENT.COM

[e10% DESCRIPTION: TAKE-UP SECTION_WELDMENT
- COMPANY PROPRIETARY NOTE - R%fTAESE 3/18/2020 PART NUMBER: BCN5AA REV# 4
THIS DRAWING AND ITS DESIGNS ARE PROPERTY OF AVW EQUIPMENT CO. &
IT 1S NOT TO BE USED OR REPRODUCED WITHOUT THE PERMISSION FROM AVW CO. SIZE
DIMENSION ARE IN INCHES & PROVIDED PRIOR
TO SURFACE TREATMENTS, UNLESS NOTED. A EST WEIGHT: 759 Ibmass SHEET 20 of 57

PATH:L:\Designs\Product Lines\Conveyors\BCN5 - 36" Belt\BCN5 - Take-Up Section\BCN5 - Take-Up Section.iam




BCNS5AD - TAKE-UP DRUM

(@12%)"
TYP.

(@10)"
TYP.

(@2%)"

44"
' 37%" '
‘ 37" ‘ (%)
ik b
11 1)
(@10%")

| ‘

Ir |
1%¢" (35)" ! 1%"
AVW EQUIPMENT CO.. INC DRAWN BY Jose cusTOMER: AVW EQUIPMENT CO.
105 S. 9TH AVENUE.’ ’ .
MAYWOOD, IL 60153 CHECKED BY PROJECT: BCN5 - 36" DUAL BELT CONVEYOR
Tel: 708-343-7738 Fax: 708-343-9065
WWW.AVWEQUIPMENT.COM
Qry DESCRIPTION: TAKE-UP DRUM
- COMPANY PROPRIETARY NOTE - R%fTAESE 3/18/2020 PART NUMBER: BCN5AD REV# 4
THIS DRAWING AND ITS DESIGNS ARE PROPERTY OF AVW EQUIPMENT CO. &
IT IS NOT TO BE USED OR REPRODUCED WITHOUT THE PERMISSION FROM AVW CO. SIZE
DIMENSION ARE IN INCHES & PROVIDED PRIOR
TO SURFACE TREATMENTS, UNLESS NOTED. A ESTWEIGHT: 30 Ibmass SHEET 21 of 57

PATH:L:\Designs\Product Lines\Conveyors\BCNS5 - 36" Belt\Parts\BCN5 - Take-Up Drum\5BCTUD.iam




BCNS5AD - TAKE-UP DRUM

@2'%e"

B10%s"
I

TAKE-UP DRUM

ITEM QTY DESCRIPTION
1 1 10" Pipe #Sch40 x 37" LG.
2 2 Plate #3/8" x D 10 1/8"
3 2 Ring #3/16" x D 12 1/4"
4 1 Shaft 2 15/16"D x 44" LG.

(0.365)"

B10%"

@10"

-3

N

Plate #3/8" x D 10 1/8" @12u /\

10" Pipe #S¢ch40 x 37" LG.

o -_?/16“

s 44"

B2'%e"

B10%6" /

Ring #3/16" x D 12 1/4"

Shaft 2 15/1

6"D x 44" LG.

DRAWN BY Jose

AVW EQUIPMENT CO., INC.

cusTOMER: AVW EQUIPMENT CO.

105 S. 9TH AVENUE
MAYWOOD, IL 60153 CHECKED BY

PROJECT: BCN5 - 36" DUAL BELT CONVEYOR

Tel: 708-343-7738 Fax: 708-343-9065
WWW.AVWEQUIPMENT.COM

Qty DESCRIPTION: TAKE-UP DRUM
- COMPANY PROPRIETARY NOTE - RELEASE 3/18/2020 PART NUMBER:  BCN5AD REV# 4
THIS DRAWING AND ITS DESIGNS ARE PROPERTY OF AVW EQUIPMENT CO. &
IT1S NOT TO BE USED OR REPRODUCED WITHOUT THE PERMISSION FROM AVW CO. [0 m e om o oo e e O o or | S1ZE . SHEET 22 of 57
TO SURFACE TREATMENTS, UNLESS NOTED. A * 30 Ibmass o

PATH:L:\Designs\Product Lines\Conveyors\BCNS5 - 36" Belt\Parts\BCN5 - Take-Up Drum\5BCTUD.iam




BCN5AF6-1120 - TRANSFER PLATE F/ TAKE-UP (DRIVER SIDE) 1

-

8%“
91/2||

1%"*}——‘ LV:" " ’| I‘_%"

Diamond Plate #1/4" x 2" x 9 1/2"

DESCRIPTION

Diamond Plate #1/4" x 2" x 9 1/2"

Diamond Plate #3/8" x 7 1/2" x 42" LG.

Plate #1/2" 36" x 2"

ITEM QTY
2
2 1
3 1
4 2

Plate SS #1/2" 7 in x 2in

| 42!!

(38)"

— 1"

6o||

ylnd

g%ll

g%n

|
2 ~L% Diamond Plate #3/8" x 6" x 42" LG,

14||__|

R%ll

R%"

DETAIL A

TYP.

%" TYP.

DETAIL B

DRAWN BY Jose cusTOMER: AVW EQUIPMENT CO.
AVW EQUIPMENT CO., INC.
105 S. 9TH AVENUE
MAYWOOD, IL 60153 CHECKED BY PROJECT: BCN5 - 36" DUAL BELT CONVEYOR
Tel: 708-343-7738 Fax: 708-343-9065
WWW.AVIWEQUIPMENT.COM ary pEscrIPTION: TRANSFER PLATE F/ TAKE-UP (DRIVER SIDE)
- COMPANY PROPRIETARY NOTE - RELEASE 3/18/2020 PART NUMBER: BCN5AF6-1120 REV# 4
THIS DRAWING AND ITS DESIGNS ARE PROPERTY OF AVW EQUIPMENT CO. &
IT 1S NOT TO BE USED OR REPRODUCED WITHOUT THE PERMISSION FROM AVW CO. SIZE
DIMENSION ARE IN INCHES & PROVIDED PRIOR
TO SURFACE TREATMENTS, UNLESS NOTED. A ESTWEIGHT: 5 Ibmass SHEET 23 of 57

PATH:L:\Designs\Product Lines\Conveyors\BCNS5 - 36" Belt\Parts\BCN5 - Transfer plates\BCN5 - Transfter Plate for Take-Up Section (Driver Side).iam




BCN5AE6-1120 - TRANSFER PLATE F/ TAKE-UP SECTION (PASSENGER SIDE)

ITEM QTY DESCRIPTION
1 2 Diamond Plate #1/4" x 2" x 9 1/2"
2 1 Diamond Plate #3/8" x 7 1/2" x 42" LG.
3 1 Plate #1/2" 36" x 2"
4 2 Plate SS #1/2" 7 in x 2in

] I__1--

60||

e

Diamond Plate #3/8" x 6" x 42" LG.

83/8"
91/2||

‘I‘é"*}——‘ L‘/z" " ’| I‘_%"

¢1/2"
TYP.

%" TYP.

%" TYP.

DETAIL A

F)

DRAWN BY Jose cusToMER: AVW EQUIPMENT CO.
AVW EQUIPMENT CO., INC.
. 105 S. 9TH AVENUE
Diamond Plate #1/4" x 2" x 9 1/2" MAYWOOD. IL 60153 CHECKED BY PROJECT: BCN5 - 36" DUAL BELT CONVEYOR
Tel: 708-343-7738 Fax: 708-343-9065
WWW.AVIWEQUIPMENT.COM ary pESCRIPTION: TRANSFER PLATE F/ TAKE-UP SECTION (PASSENGER SID
- COMPANY PROPRIETARY NOTE - RELEASE 3/18/2020 PART NUMBER: BCNS5AE6-1120 REV# 4
THIS DRAWING AND ITS DESIGNS ARE PROPERTY OF AVW EQUIPMENT CO. &
ITISNOT TO BE USED OR REPRODUCED WITHOUT THE PERMISSION FROM AVW CO. SIZE
DIMENSION ARE IN INCHES & PROVIDED PRIOR
TO SURFACE TREATMENTS, UNLESS NOTED. A ESTWEIGHT: 6 Ibmass SHEET 24 of 57

PATH:L:\Designs\Product Lines\Conveyors\BCN5 - 36" Belt\Parts\BCNS5 - Transfer plates\BCN5 - Transfter Plate for Take-Up Section (Passenger Side).iam




BCN5QU - SUPPORT ROLLER

41%"

3"

1%e" TYP.

3238“ 1 13/16“

L (3)
TYP.

]

@12y @y

(31/5)"
TYP.

DRAWN BY Jose cusTOMER: AVW EQUIPMENT CO.
AVW EQUIPMENT CO., INC.

105 S. 9TH AVENUE
MAYWOOD, IL 60153 CHECKED BY PROJECT: BCN5 - 36" DUAL BELT CONVEYOR

Tel: 708-343-7738 Fax: 708-343-9065

WWW.AVWEQUIPMENT.COM

ary pescrIPTION: SUPPORT ROLLER
- COMPANY PROPRIETARY NOTE - RELEASE 3/18/2020 PART NUMBER: BCN5QU REV# 4
THIS DRAWING AND ITS DESIGNS ARE PROPERTY OF AVW EQUIPMENT CO. &
IT1S NOT TO BE USED OR REPRODUCED WITHOUT THE PERMISSION FROM AVW CO. SiZE
DIMENSION ARE IN INCHES & PROVIDED PRIOR _
TO SURFACE TREATMENTS, UNLESS NOTED. A ESTWEIGHT: 2 Ibmass SHEET 25 of 57

PATH:L:\Designs\Product Lines\Conveyors\BCN5 - 36" Belt\Parts\BCN5 - Support Roller\BCN5 - Support Roller.iam




SUPPORT ROLLER

BCN5 - SUPPORT ROLLER ITEM QTY DESCRIPTION
1 9 PLASTIC SUPPORT ROLLER
2 1 SUPPORT ROLLER SHAFT 3/4" OD x 41 3/4" LG.
3 4 UHMW SPACER 3" LG.
3

@1%"
O.D.

B
I.D.

UHMW Bushing 3/4" 1.D. x 1 1/2" O.D. x 3" LG.

A 41%" '
¢%ll ‘

SUPPORT ROLLER SHAFT 3/4" OD x 41 3/4" LG.

DRAWN BY Jose cusTOMER: AVW EQUIPMENT CO.
AVW EQUIPMENT CO., INC.

105 S. 9TH AVENUE
MAYWOOD, IL 60153 CHECKED BY PROJECT: BCN5 - 36" DUAL BELT CONVEYOR
Tel: 708-343-7738 Fax: 708-343-9065

WWW.AVWEQUIPMENT.COM

ary pescrIPTION: SUPPORT ROLLER
- COMPANY PROPRIETARY NOTE - RELEASE 3/18/2020 PART NUMBER: BCN5QU REV# 4
THIS DRAWING AND ITS DESIGNS ARE PROPERTY OF AVW EQUIPMENT CO. &
IT1S NOT TO BE USED OR REPRODUCED WITHOUT THE PERMISSION FROM AVW CO. SiZE
DIMENSION ARE IN INCHES & PROVIDED PRIOR _
TO SURFACE TREATMENTS, UNLESS NOTED. A ESTWEIGHT: 2 Ibmass SHEET 26 of 57

PATH:L:\Designs\Product Lines\Conveyors\BCN5 - 36" Belt\Parts\BCN5 - Support Roller\BCN5 - Support Roller.iam




BCNS5B - DRIVE SECTION

(111)"

I U
I
:

(39)"

(39)"

60"

o3 = 26"
L] —J | — A - —J | — - ] | - | B D
| " 3/n
, (42%)" 26" (421" | 42 17% 4‘
DRAWN BY Jose cusTOMER: AVW EQUIPMENT CO.
AVW EQUIPMENT CO., INC.
105 S. 9TH AVENUE .
MAYWOOD, IL 60153 CHECKED BY PROJECT: BCN5 - 36" DUAL BELT CONVEYOR
Tel: 708-343-7738 Fax: 708-343-9065
WWW.AVWEQUIPMENT.COM
Qty pescrIPTION: DRIVE SECTION
- COMPANY PROPRIETARY NOTE - R%fT‘ESE 3/18/2020 PART NUMBER: BCN5B REV# 4
THIS DRAWING AND ITS DESIGNS ARE PROPERTY OF AVW EQUIPMENT CO. &
IT IS NOT TO BE USED OR REPRODUCED WITHOUT THE PERMISSION FROM AVW CO. SIZE
DIMENSION ARE IN INCHES & PROVIDED PRIOR
TO SURFACE TREATMENTS, UNLESS NOTED. A ESTWEIGHT: 1406 lbmass SHEET 27 of 57

PATH:L:\Designs\Product Lines\Conveyors\BCNS5 - 36" Belt\BCN5 - Drive Section\BCNS5 - Drive Section with Parts.iam




Parts List

BCN5B - DRIVE SECTION ITEM | QTY DESCRIPTION
1 4 |1/2"-13 UNC x 2 1/2" LG. HEX SCREW
2 4 |1/2-13 Hex Nut
3 8  |1/4" FLAT WASHER
4 8  |1/4"-20 Hex Nut
5 24 |3/4" FLAT WASHER
6 6  |3/4" SPLIT LOCK WASHER
7 12 [3/4"-10 HEX NUT
P 8 12 |3/4"-10 UNC x 3 1/2" LG. HEX SCREW
R 9 2 [3/8"- 16 x 1" UNC HEX SCREW
~ S 10 6 |3/8" FLAT WASHER
> 11 4 |3/8"-16 18-8ss Heavy Hex Nut
et Y 12 2 |3/8"-16 UNC x 1" LG. FLAT HEAD CAP SCREW
> 5 13 2 |44" MANIFOLD ASSEMBLY
- 14 2 |cc8018 CHAIN
, 15 1 |COVER DIAMOND PLATE
N 16 2 |DRAIN TROUGH
i 17 1 |DRIVE SECTION_WELDMENT
18 2 |DRIVE SHAFT ASSEMBLY
19 1 |INTERMEDIATE DRIVE SHAFT
20 4 |PILLOW BLOCK 2 15/16"
21 4 |Round U-Bolt D 1/4" x 1 1/8" x 2" LG.
22 1 |SEW-EURODRIVE - PN Varies 15 HP or 20 HP
23 8  |Shim Plate #3/16" x 2 1/2" x 11" LG.
24 20 |SS Sheet Metal #12Ga (0.1046 in) x 2 1/2" x 2 1/2"
25 4 |SS Sheet Metal #18Ga (0.0478 in) x 2 1/2" x 2 1/2"
26 1 |TRANSFER PLATE F/ DRIVE SECTION (DRIVER SIDE)
27 1 |TRANSFER PLATE F/ DRIVE SECTION (PASSENGER SIDE)
AVW EQUIPMENT CO., INC. DRAWN BY Jose cusTOMER: AVW EQUIPMENT CO.
&%ﬁ%ggﬁﬁ}_’%ﬁ% CHECKED BY PROJECT: BCN5 - 36" DUAL BELT CONVEYOR
N AHEGUIPVENT GO
QT pescrIPTION: DRIVE SECTION

PATH:L:\Designs\Product Lines\Conveyors\BCNS5 - 36" Belt\BCN5 - Drive Section\BCNS5 - Drive Section with Parts.iam




BCN5B - DRIVE SECTION

DETAIL A

DETAIL C
(4 PLCS.)

DETAIL B

DRAWN BY Jose cusTOMER: AVW EQUIPMENT CO.
AVW EQUIPMENT CO., INC.
105 S. 9TH AVENUE
MAYWOOD, IL 60153 CHECKED BY PROJECT: BCN5 - 36" DUAL BELT CONVEYOR
Tel: 708-343-7738 Fax: 708-343-9065
WWW.AVWEQUIPMENT.COM
Qty pescrIPTION: DRIVE SECTION
- COMPANY PROPRIETARY NOTE - R%fTAESE 3/18/2020 PART NUMBER: BCN5B REV# 4
THIS DRAWING AND ITS DESIGNS ARE PROPERTY OF AVW EQUIPMENT CO. &
IT IS NOT TO BE USED OR REPRODUCED WITHOUT THE PERMISSION FROM AVW CO. SIZE
DIMENSION ARE IN INCHES & PROVIDED PRIOR
TO SURFACE TREATMENTS, UNLESS NOTED. A EST WEIGHT: 1406 Ibmass SHEET 29 of 57

PATH:L:\Designs\Product Lines\Conveyors\BCNS5 - 36" Belt\BCN5 - Drive Section\BCNS5 - Drive Section with Parts.iam




BCNS5B - DRIVE SECTION

DETAIL A
(4 PLCS.)

DRAWN BY Jose cusTOMER: AVW EQUIPMENT CO.
AVW EQUIPMENT CO., INC.
105 S. 9TH AVENUE
MAYWOOD, IL 60153 CHECKED BY PROJECT: BCN5 - 36" DUAL BELT CONVEYOR
Tel: 708-343-7738 Fax: 708-343-9065
WWW.AVWEQUIPMENT.COM
Qty pescrIPTION: DRIVE SECTION
- COMPANY PROPRIETARY NOTE - R%fTAESE 3/18/2020 PART NUMBER: BCN5B REV# 4
THIS DRAWING AND ITS DESIGNS ARE PROPERTY OF AVW EQUIPMENT CO. &
IT IS NOT TO BE USED OR REPRODUCED WITHOUT THE PERMISSION FROM AVW CO. SIZE
DIMENSION ARE IN INCHES & PROVIDED PRIOR
TO SURFACE TREATMENTS, UNLESS NOTED. A EST WEIGHT: 1406 Ibmass SHEET 30 of 57

PATH:L:\Designs\Product Lines\Conveyors\BCNS5 - 36" Belt\BCN5 - Drive Section\BCNS5 - Drive Section with Parts.iam




BCN5BC - DRIVE SHAFT ASSEMBLY

(12%)" ‘ |

ITISNOT TO BE USED OR REPRODUCED WITHOUT THE PERMISSION FROM AVW CO.

Parts List
ITEM QTY DESCRIPTION
1 1 SPROCKET FLANGE 2 15/16"
2 2 SPLIT COLLAR
3 12 17-TOOTH PLASTIC SPROCKET
4 1 DRIVE SHAFT 2 15/16" OD x 49" LG.
(49)“
33" 9"
(X12) 21"
(BIBIEIEIEIEIEIBIAIBIE] ‘oo
8§ B B BH H B B H H H H H
DRAWN BY Jose cusTOMER: AVW EQUIPMENT CO.
AVW EQUIPMENT CO., INC.
105 S. 9TH AVENUE
MAYWOOD, IL 60153 CHECKED BY PROJECT: BCN5 - 36" DUAL BELT CONVEYOR
Tel: 708-343-7738 Fax: 708-343-9065
WWW.AVWEQUIPMENT.COM
QT DESCRIPTION: DRIVE SHAFT ASSEMBLY
- COMPANY PROPRIETARY NOTE - RELEASE 3/18/2020 PART NUMBER: BCN5BC REV# 4
THIS DRAWING AND ITS DESIGNS ARE PROPERTY OF AVW EQUIPMENT CO. &

DIMENSION ARE IN INCHES & PROVIDED PRIOR | SIZE
TO SURFACE TREATMENTS, UNLESS NOTED. A

EST WEIGHT: 100 |bmass SHEET 31 of 57

PATH:L:\Designs\Product Lines\Conveyors\BCNS5 - 36" Belt\Parts\BCN5 - Drive ShafttBCN5-DS.iam




BCN5BCA - DRIVE SHAFT 2 15/16" OD x 49" LG.

S T S

31/2"

%ll

31/2"

PRV

7N
16

VIEW A-A

49"

51"

__31/2"

36"

7"

51/2||

| g2

|

THIS DRAWING AND ITS DESIGNS ARE PROPERTY OF AVW EQUIPMENT CO. &
ITISNOT TO BE USED OR REPRODUCED WITHOUT THE PERMISSION FROM AVW CO.

DRAWN BY Jose cusTOMER: AVW EQUIPMENT CO.
AVW EQUIPMENT CO., INC.
105 S. 9TH AVENUE
MAYWOOD, IL 60153 CHECKED BY PROJECT: BCN5 - 36" DUAL BELT CONVEYOR
Tel: 708-343-7738 Fax: 708-343-9065
WWW.AVWEQUIPMENT.COM
QT DEsCRIPTION: DRIVE SHAFT 2 15/16" OD x 49" LG.
- COMPANY PROPRIETARY NOTE - R%fTAESE 3/18/2020 PART NUMBER: BCN5BCA REV# 4

DIMENSION ARE IN INCHES & PROVIDED PRIOR
TO SURFACE TREATMENTS, UNLESS NOTED.

SIZE
A EST WEIGHT:

SHEET 32 of 57

PATH:L:\Designs\Product Lines\Conveyors\BCNS5 - 36" Belt\Parts\BCN5 - Drive Shaft\Parts\Drive Shaft 2-15_16 x 49 LG.ipt




BCNS5BD - INTERMEDIATE DRIVE SHAFT

(B2%s)"

Parts List
ITEM QTY DESCRIPTION
1 1 Gear Drive Shaft 3 1/4" OD x 18 1/2" LG
2 2 SPROCKET FLANGE 2 15/16"
' (18%)" '

(286)"

18%"
3" 121/2" 3“
3/8“
(¢3%)u
Al
| B2 | |
(3%)" ‘_(3%)“
DRAWN BY Jose cusTOMER: AVW EQUIPMENT CO.
AVW EQUIPMENT CO., INC.
105 S. 9TH AVENUE
MAYWOOD, IL 60153 CHECKED BY PROJECT: BCN5 - 36" DUAL BELT CONVEYOR
Tel: 708-343-7738 Fax: 708-343-9065
WWW.AVWEQUIPMENT.COM
Qry DEsCRIPTION: INTERMEDIATE DRIVE SHAFT
- COMPANY PROPRIETARY NOTE - R%fTAESE 3/18/2020 PART NUMBER: BCN5BD REV# 4
THIS DRAWING AND ITS DESIGNS ARE PROPERTY OF AVW EQUIPMENT CO. &
IT 1S NOT TO BE USED OR REPRODUCED WITHOUT THE PERMISSION FROM AVW CO. SIZE
DIMENSION ARE IN INCHES & PROVIDED PRIOR
TO SURFACE TREATMENTS, UNLESS NOTED. A ESTWEIGHT: 7 Ibmass SHEET 33 of 57

PATH:L:\Designs\Product Lines\Conveyors\BCN5 - 36" Belt\Parts\BCN5 - Intermediate Shaft Assembly\BCN5-IDS.iam




BCNS5SBA - DRIVE SECTION_WELDMENT

111"
1 w__| e 1 "
' 36%" ' 28" | | 36%" '
1/?“
1= S [ 1= 1=
|U )
1h 0 0 |
]
L
44t 0 I
! om0 o
1 - | ‘ L 1 | -
I i J I . i FLUSH W/—
| * 1 1 = ANGLE BTTM
| | | | = =
4" || @ty @) (| [ i n L
| FLUSH W/ "
- OUTER HOLDER
[]
4
DETAIL A
] 1/2||
' (OUTSIDE HOLDERS)
<J C DETAIL B
39" 26" 39" 50" (INNER HOLDER)
- - B _ -
1B €] AN _a/ $ £ \ N
6[ 1p . 1p A
" 5“ 5u 67/8"
17% e
i n |
R B N —J —1 [ 7 —J —1 | Ll T -
1%" | | 1% g
F—13%"— F—13%" —= F—13%" —= F—13%" —= 32" | 16" {
DRAWN BY Jose cusToMER: AVW EQUIPMENT CO.
AVW EQUIPMENT CO., INC.
105 S. 9TH AVENUE
MAYWOOD, IL 60153 CHECKED BY PROJECT: BCN5 - 36" DUAL BELT CONVEYOR
Tel: 708-343-7738 Fax: 708-343-9065
WWW.AVIWEQUIPMENT.COM ary DESCRIPTION: DRIVE SECTION_WELDMENT
- COMPANY PROPRIETARY NOTE - R%fT‘ESE 3/18/2020 PART NUMBER: BCN5BA REV# 4
THIS DRAWING AND ITS DESIGNS ARE PROPERTY OF AVW EQUIPMENT CO. &
ITISNOT TO BE USED OR REPRODUCED WITHOUT THE PERMISSION FROM AVW CO. SIZE
o e noeenren | S T corueo 760 bmass SHEET 34 of57

PATH:L:\Designs\Product Lines\Conveyors\BCNS5 - 36" Belt\BCN5 - Drive Section\BCNS5 - Drive Section.iam




BCNS5BA - DRIVE SECTION_WELDMENT

60"
e (5)" 23/8"
TYP. TYP. 31"
%ll
- T F —
vrov v v vl 0
- " o)
3%"
1/m
15%" 143" 14%"
1M1%"  qq»
— i — n
[ —
—
11/2“ 1 1/le
32" 16"
DRAWN BY Jose cusTOMER: AVW EQUIPMENT CO.
AVW EQUIPMENT CO., INC.
105 S. 9TH AVENUE
MAYWOOD, IL 60153 CHECKED BY PROJECT: BCN5 - 36" DUAL BELT CONVEYOR
Tel: 708-343-7738 Fax: 708-343-9065
WWW.AVIWEQUIPMENT.COM ary DESCRIPTION: DRIVE SECTION_WELDMENT
- COMPANY PROPRIETARY NOTE - R%fT‘ESE 3/18/2020 PART NUMBER: BCN5BA REV# 4
THIS DRAWING AND ITS DESIGNS ARE PROPERTY OF AVW EQUIPMENT CO. &
IT 1S NOT TO BE USED OR REPRODUCED WITHOUT THE PERMISSION FROM AVW CO. SIZE
DIMENSION ARE IN INCHES & PROVIDED PRIOR
TO SURFACE TREATMENTS, UNLESS NOTED. A EST WEIGHT: 789 lbmass SHEET 35 of 57
PATH:L:\Designs\Product Lines\Conveyors\BCNS5 - 36" Belt\BCN5 - Drive Section\BCNS5 - Drive Section.iam




Parts List

DESCRIPTION

BCNSBA - DRIVE SECTION_WELDMENT ITEM | QTY

-
(o]

1/2" - 13 x 1.25" UNC Hex Screw

-
(o]

1/2-13 Hex Nut

N

Angle #1/4" x 2" 1 1/2" x 41 1/2" LG.

Angle #1/4" x 2" x 3" x 16" LG.

Angle #1/4" x 2" x 3" x 32" LG.

Channel #.19 x 1 1/2" x 3" x 28 1/2" LG.

NIN[|N

Channel #.19 x 1 1/2" x 3" x 40" LG.

Channel #.19 x 1 1/2" x 3" x 107 1/2" LG.

AA
N

Channel #.19 x 1 3/4" x 5" x 39" LG.

Channel #1/4 x 1 3/4" x 5" x 22 3/4" LG.

Channel #0.190" x 1 3/4" x 5" x 23" LG.

Diamond Plate #1/4" x 2 5/8" x 2" LG.

DRAIN TROUGH HOLDER

Plate #(1/4") x 3 5/8" x 17 1/2" LG.

Plate #(1/4") x 3 5/8" x 17 1/2" LG.

Plate #1/4" x 5" x 42 1/2" LG.

Plate #1/4" x 16" x 22" LG.

Plate #1/4" x 31" x 36" LG.

Plate #5/16 x 3 1/4" x 2 1/2"

Plate #5/16" x 1 1/2" x 2 3/16" LG.

Plate #5/16" x 1 3/4" x 2" LG.

Plate #5/16" x 2 1/2" x 3 1/4" LG.

REMOVABLE TRANSFER PLATE MOUNTING BRACKET [LEFT]

REMOVABLE TRANSFER PLATE MOUNTING BRACKET [RIGHT]

Set Screw Collar 3/4" [.D. x 1 1/4" O.D.

SS Sheet Metal #10Ga (0.1345in) x 2" x 2 1/4" LG.

Angle #1/4" x 2" x 3" x 111" LG.

22 B BININ|IRR(O]RINI=2(NININ|A]|R|O(O®

Channel #.19 x 1 1/2" x 3" x 20 3/4" LG.

AVW EQUIPMENT CO., INC.
105 S. 9TH AVENUE
MAYWOOD, IL 60153

Tel: 708-343-7738 Fax: 708-343-9065
WWW.AVWEQUIPMENT.COM

DRAWN BY Jose cusTOMER: AVW EQUIPMENT CO.

CHECKED BY

PROJECT: BCN5 - 36" DUAL BELT CONVEYOR

Qry

DESCRIPTION: DRIVE SECTION_WELDMENT

- COMPANY PROPRIETARY NOTE -

THIS DRAWING AND ITS DESIGNS ARE PROPERTY OF AVW EQUIPMENT CO. &
ITISNOT TO BE USED OR REPRODUCED WITHOUT THE PERMISSION FROM AVW CO.

RELEASE
DATE 3/18/2020 PART NUMBER: BCN5BA

REV# 4

DIMENSION ARE IN INCHES & PROVIDED PRIOR

SIZE

TO SURFACE TREATMENTS, UNLESS NOTED. A EST WEIGHT: 789 Ibmass

SHEET 36 of 57

PATH:L:\Designs\Product Lines\Conveyors\BCNS5 - 36" Belt\BCN5 - Drive Section\BCNS5 - Drive Section.iam




BCNS5BA - DRIVE SECTION_WELDMENT

DETAIL A

DETAIL B

DRAWN BY Jose cusTOMER: AVW EQUIPMENT CO.
AVW EQUIPMENT CO., INC.
105 S. 9TH AVENUE
MAYWOOD, IL 60153 CHECKED BY PROJECT: BCN5 - 36" DUAL BELT CONVEYOR
Tel: 708-343-7738 Fax: 708-343-9065
WWW.AVIWEQUIPMENT.COM ary DESCRIPTION: DRIVE SECTION_WELDMENT
- COMPANY PROPRIETARY NOTE - R%fTAESE 3/18/2020 PART NUMBER: BCN5BA REV# 4
THIS DRAWING AND ITS DESIGNS ARE PROPERTY OF AVW EQUIPMENT CO. &
IT IS NOT TO BE USED OR REPRODUCED WITHOUT THE PERMISSION FROM AVW CO. SIZE
DIMENSION ARE IN INCHES & PROVIDED PRIOR
TO SURFACE TREATMENTS, UNLESS NOTED. A EST WEIGHT: 789 lbmass SHEET 37 of 57

PATH:L:\Designs\Product Lines\Conveyors\BCNS5 - 36" Belt\BCN5 - Drive Section\BCNS5 - Drive Section.iam




BCNSBA - DRIVE SECTION_WELDMENT

DETAIL A

AVW EQUIPMENT CO., INC.
105 S. 9TH AVENUE

MAYWOOD, IL 60153
Tel: 708-343-7738 Fax: 708-343-9065
WWW.AVWEQUIPMENT.COM

DRAWN BY

cusTOMER: AVW EQUIPMENT CO.

CHECKED BY

PROJECT: BCN5 - 36" DUAL BELT CONVEYOR

Qry

DESCRIPTION: DRIVE SECTION_WELDMENT

- COMPANY PROPRIETARY NOTE -

THIS DRAWING AND ITS DESIGNS ARE PROPERTY OF AVW EQUIPMENT CO. &
ITISNOT TO BE USED OR REPRODUCED WITHOUT THE PERMISSION FROM AVW CO.

RELEASE
v 3/18/2020

PART NUMBER: BCN5BA

REV# 4

DIMENSION ARE IN INCHES & PROVIDED PRIOR
TO SURFACE TREATMENTS, UNLESS NOTED.

SIZE

A

EST WEIGHT: 789 |bmass

SHEET 38 of 57

PATH:L:\Designs\Product Lines\Conveyors\BCNS5 - 36" Belt\BCN5 - Drive Section\BCNS5 - Drive Section.iam




DRIVE SECTION - Parts =
le— AR5/ " o] 9%" le— R5/ " —=f
6%s 6% -
= <+
I
16" 105/8“
*Et\ =1
fe— 114" —
R1/" 13, N _2%" "‘—%" "
4 (X4) @%" SLOTS L5 .|
TYP. THRU —— t
Plate #1/4" x 16" x 22" LG. | T
1/4-20 UNC - 2B ¥ %" 34
36"
B
(@%)"
THRU
313" Set Screw Collar 3/4" 1.D. x 1 1/4" O.D.
e
| __ | __ DOWN9O™ ]
i
31" ' FLAT PATTERN
i
7 FORMED
DRAWN BY Jose CUSTOMER: AVW EQUIPMENT CO.

AVW EQUIPMENT CO., INC.

105 S. 9TH AVENUE
MAYWOOD, IL 60153 CHECKED BY PROJECT: BCN5 - 36" DUAL BELT CONVEYOR

Tel: 708-343-7738 Fax: 708-343-9065

WWW.AVWEQUIPMENT.COM

QT DESCRIPTION: Set Screw Collar 3/4" 1.D. x 1 1/4" O.D.
- COMPANY PROPRIETARY NOTE - RELEASE 3/18/2020 PART NUMBER: CLRSS075x125x078 REV# 4
THIS DRAWING AND ITS DESIGNS ARE PROPERTY OF AVW EQUIPMENT CO. &
IT 1S NOT TO BE USED OR REPRODUCED WITHOUT THE PERMISSION FROM AVW CO. SIZE
DIMENSION ARE IN INCHES & PROVIDED PRIOR
TO SURFACE TREATMENTS, UNLESS NOTED. A EST WEIGHT: SHEET 39 of 57

PATH:L:\Libraries\AVW Components\Collars\Collars\3_4 in Collar\3_4in Collar.ipt




Parts List

BCN5BF7-1120 - TRANSFER PLATE F/ DRIVE SECTION (DRIVER SIDE) | ITEM | QTy DESCRIPTION
1 1 Diamond Plate #3/8" x 7 1/2" x 42" LG.
2 1 Diamond Plate #1/4" x 2" x 9 1/2"

o

(9%)"

42"

1
9%" 23%"

9%“ ! ‘“’3/8"

21/2" R%ll

TYP.

DETAIL A

R%" TYP.

DETAIL B

DRAWN BY Jose

AVW EQUIPMENT CO., INC.

cusTOMER: AVW EQUIPMENT CO.

105 S. 9TH AVENUE
MAYWOOD, IL 60153 CHECKED BY
Tel: 708-343-7738 Fax: 708-343-9065

PROJECT: BCN5 - 36" DUAL BELT CONVEYOR

WWW.AVWEQUIPMENT.COM

[e10% pEscRIPTION: TRANSFER PLATE F/ DRIVE SECTION (DRIVER SIDE)
- COMPANY PROPRIETARY NOTE - RELEASE 3/18/2020 PART NUMBER: BCNS5BF7-1120 REV# 4
THIS DRAWING AND ITS DESIGNS ARE PROPERTY OF AVW EQUIPMENT CO. &
IT 1S NOT TO BE USED OR REPRODUCED WITHOUT THE PERMISSION FROM AVW CO. SIZE
DIMENSION ARE IN INCHES & PROVIDED PRIOR
TO SURFACE TREATMENTS, UNLESS NOTED. A EST WEIGHT: 30 Ibmass SHEET 40 of 57

PATH:L:\Designs\Product Lines\Conveyors\BCNS5 - 36" Belt\Parts\BCN5 - Transfer plates\BCNS5 - Transfter Plate for Drive Section (Driver Side).iam




Parts List

BCN5BE7-1120 - TRANSFER PLATE F/ DRIVE SECTION (PASSENGER SIDE) ITEM QTY DESCRIPTION
1 1 Diamond Plate #3/8" x 7 1/2" x 42" LG.
2 1 Diamond Plate #1/4" x 2" x 9 1/2"

‘ 42"

| 42“

(9%)"

e

17"

71/2||

9%" -
' (X2) @%" THRU

-

w— | 40%"

e b

| %ll

DRAWN BY Jose

AVW EQUIPMENT CO., INC.

cusTOMER: AVW EQUIPMENT CO.

105 S. 9TH AVENUE
MAYWOOD, IL 60153 CHECKED BY
Tel: 708-343-7738 Fax: 708-343-9065

PROJECT: BCN5 - 36" DUAL BELT CONVEYOR

WWW.AVWEQUIPMENT.COM

[e10% DESCRIPTION: TRANSFER PLATE F/ DRIVE SECTION (PASSENGER SIDE)
- COMPANY PROPRIETARY NOTE - RELEASE 3/18/2020 PART NUMBER: BCNSBE7-1120 REV# 4
THIS DRAWING AND ITS DESIGNS ARE PROPERTY OF AVW EQUIPMENT CO. &
IT1S NOT TO BE USED OR REPRODUCED WITHOUT THE PERMISSION FROM AVW CO. SiZE
DIMENSION ARE IN INCHES & PROVIDED PRIOR
TO SURFACE TREATMENTS, UNLESS NOTED. A ESTWEIGHT: 6 Ibmass SHEET 41 of 57

PATH:L:\Designs\Product Lines\Conveyors\BCN5 - 36" Belt\Parts\BCNS5 - Transfer plates\BCN5 - Transfter Plate for Drive Section (Passenger Side).iam




17" |*-|-(2)"
A‘_-_I

)"~ ’»17/16"

I.-_

SECTION B-B

30"
26%"

44"

26"

<—|C

~c

3ooll

N
(5)"
4

1||

SECTION C-C

SECTION A-A

BCN3AP-0714 - COVER DIAMOND PLATE

DRAWN BY Jose cusTOMER: AVW EQUIPMENT CO.
AVW EQUIPMENT CO., INC.
105 S. 9TH AVENUE
MAYWOOD, IL 60153 CHECKED BY PROJECT: BCN5 - 36" DUAL BELT CONVEYOR
Tel: 708-343-7738 Fax: 708-343-9065
WWW.AVWEQUIPMENT.COM
QT pescrIPTION: COVER DIAMOND PLATE
- COMPANY PROPRIETARY NOTE - RELEASE 3/18/2020 PART NUMBER: BCN3AP-0714 REV# 4
THIS DRAWING AND ITS DESIGNS ARE PROPERTY OF AVW EQUIPMENT CO. &
IT IS NOT TO BE USED OR REPRODUCED WITHOUT THE PERMISSION FROM AVW CO. SIZE
DIMENSION ARE IN INCHES & PROVIDED PRIOR
TO SURFACE TREATMENTS, UNLESS NOTED. A EST WEIGHT: 96 Ibmass SHEET 42 of 57

PATH:L:\Designs\Product Lines\Conveyors\BCNS5 - 36" Belt\Parts\BCN5 - Gear Drive Cover\BCN5-GDC.iam




Parts List

BCN3AP-0714 - COVER DIAMOND PLATE

ITEM QTY DESCRIPTION
1 1 Diamond Plate #1/4" x 30" x 44" LG.
2 1 Diamond Plate #1/4" x 16" x 22" LG.
3 1 Diamond Plate #1/4" x 3 1/2" x 16" LG.
4 2 Diamond Plate #1/4" x 1 3/4" x 25" LG.
5 2 Angle #1/4" x 1 1/4" x 1 1/4" x 5" LG.
6 2 Angle #1/4" x 1 1/4" x 1 1/4" x 2" LG.

VIEW A-A

NO WELD
THIS SIDE

NO WELD
THIS SIDE

DRAWN BY Jose cusTOMER: AVW EQUIPMENT CO.
AVW EQUIPMENT CO., INC.
105 S. 9TH AVENUE
MAYWOOD, IL 60153 CHECKED BY PROJECT: BCN5 - 36" DUAL BELT CONVEYOR
Tel: 708-343-7738 Fax: 708-343-9065
WWW.AVWEQUIPMENT.COM
Qry pescriPTION: COVER DIAMOND PLATE
- COMPANY PROPRIETARY NOTE - RELEASE 3/18/2020 PARTNUMBER: BCN3AP-0714 REV# 4
THIS DRAWING AND ITS DESIGNS ARE PROPERTY OF AVW EQUIPMENT CO. &
IT 1S NOT TO BE USED OR REPRODUCED WITHOUT THE PERMISSION FROM AVW CO. SIZE
DIMENSION ARE IN INCHES & PROVIDED PRIOR
TO SURFACE TREATMENTS, UNLESS NOTED. A EST WEIGHT: 96 Ibmass SHEET 43 of 57

PATH:L:\Designs\Product Lines\Conveyors\BCNS5 - 36" Belt\Parts\BCN5 - Gear Drive Cover\BCN5-GDC.iam




R%lv
TYP.

26“

44"

71/2||

26" TYP.

%u

10%"

17/8"

16"

RY%e" TYP.

17/8"

THIS DRAWING AND ITS DESIGNS ARE PROPERTY OF AVW EQUIPMENT CO. &
ITISNOT TO BE USED OR REPRODUCED WITHOUT THE PERMISSION FROM AVW CO.

DRAWN BY Jose cusTOMER: AVW EQUIPMENT CO.
AVW EQUIPMENT CO., INC.
105 S. 9TH AVENUE
MAYWOOD, IL 60153 CHECKED BY PROJECT: BCN5 - 36" DUAL BELT CONVEYOR
Tel: 708-343-7738 Fax: 708-343-9065
WWW.AVWEQUIPMENT.COM
QT DESCRIPTION: Diamond Plate #1/4" x 30" x 44" LG.
- COMPANY PROPRIETARY NOTE - RELEASE 3/18/2020 PARTNUMBER: BCN3AP-0714A REV# 4

DIMENSION ARE IN INCHES & PROVIDED PRIOR
TO SURFACE TREATMENTS, UNLESS NOTED.

SIZE

A

EST WEIGHT:

SHEET 44 of 57

PATH:L:\Designs\Product Lines\Conveyors\BCNS5 - 36" Belt\Parts\BCN5 - Gear Drive Cover\Parts\BCN5-GDC-00.ipt




GEAR DRIVE COVER - Parts

| 2" |
| |

16"

+

u" 5"
19" %"
| —
i
[ i
Angle #1/4" x 1 1/4" x 1 1/4" x 5" LG.
-
3"~ 22" "
| y il S
| I o]
30°"
! 25" Angle #1/4" x 1 1/4" x 1 1/4" x 2" LG.

DRAWN BY Jose cusTOMER: AVW EQUIPMENT CO.
AVW EQUIPMENT CO., INC.

105 S. 9TH AVENUE
MAYWOOD, IL 60153 CHECKED BY PROJECT: BCN5 - 36" DUAL BELT CONVEYOR

Tel: 708-343-7738 Fax: 708-343-9065

WWW.AVWEQUIPMENT.COM

ary DESCRIPTION: Diamond Plate #1/4" x 16" x 22" LG.
- COMPANY PROPRIETARY NOTE - RELEASE 3/18/2020 PART NUMBER: BCN3AP-0714B REV# 4
THIS DRAWING AND ITS DESIGNS ARE PROPERTY OF AVW EQUIPMENT CO. &
IT1S NOT TO BE USED OR REPRODUCED WITHOUT THE PERMISSION FROM AVW CO. SIZE
DIMENSION ARE IN INCHES & PROVIDED PRIOR
TO SURFACE TREATMENTS, UNLESS NOTED. A EST WEIGHT: SHEET 45 of 57

PATH:L:\Designs\Product Lines\Conveyors\BCNS5 - 36" Belt\Parts\BCN5 - Gear Drive Cover\Parts\BCN5-GDC-01.ipt




Parts List
ITEM | QTY DESCRIPTION
WA1LAA-44 - 44" MANIFOLD ASSEMBLY 1 T 1172 NPT SS HOLLOW HEX PLUG
2 5 1/4" Half Coupling
3 1 |Tubing #11Ga. (0.120 in) x 1" O.D. x 44" LG.
' (44)" |
‘ ‘ (@1)"
44" A
5 TYP. V8 TYP. (X5) @%" THRU ONE WALL
" X
A N i I T I R 740 [ IR N I .
R S SR S SR A S S S S
e ] ] R ]

1/2 - 14 NPT" ¥ %" Tubing #11Ga. (0.120 in) x 1" O.D. x 44" LG.
(BOTH ENDS)

DRAWN BY Jose cusTOMER: AVW EQUIPMENT CO.
AVW EQUIPMENT CO., INC.

105 S. 9TH AVENUE
MAYWOOD, IL 60153 CHECKED BY PROJECT: BCN5 - 36" DUAL BELT CONVEYOR

Tel: 708-343-7738 Fax: 708-343-9065

WWW.AVWEQUIPMENT.COM

QT DESCRIPTION: 44" MANIFOLD ASSEMBLY
- COMPANY PROPRIETARY NOTE - R%‘fT‘}ESE 3/18/2020 PART NUMBER: WA1LAA-44 REV# 4
THIS DRAWING AND ITS DESIGNS ARE PROPERTY OF AVW EQUIPMENT CO. &
IT 1S NOT TO BE USED OR REPRODUCED WITHOUT THE PERMISSION FROM AVW CO. SIZE
DIMENSION ARE IN INCHES & PROVIDED PRIOR
TO SURFACE TREATMENTS, UNLESS NOTED. A ESTWEIGHT: 5 Ibmass SHEET 46 of 57

PATH:L:\Designs\Product Lines\Conveyors\BCNS5 - 36" Belt\Parts\BCN5 - Spray Manifold 44in\BCN5-SM44in.iam




BCNS5C - MIDDLE SECTION

Parts List

ITEM QTY DESCRIPTION
1 8 1/4"-20 Hex Nut
2 2 DRAIN TROUGH
1 MIDDLE SECTION FRAME
2 Round U-Bolt D 1/4" x 3/4" x 2 1/4" L
2 SUPPORT ROLLER

DETAIL A

DRAWN BY Jose cusTOMER: AVW EQUIPMENT CO.
AVW EQUIPMENT CO., INC.
105 S. 9TH AVENUE
MAYWOOD, IL 60153 CHECKED BY PROJECT: BCN5 - 36" DUAL BELT CONVEYOR
Tel: 708-343-7738 Fax: 708-343-9065
WWW.AVWEQUIPMENT.COM
QT DESCRIPTION: MIDDLE SECTION
- COMPANY PROPRIETARY NOTE - R%fTAESE 3/18/2020 PART NUMBER: BCN5C REV# 4
THIS DRAWING AND ITS DESIGNS ARE PROPERTY OF AVW EQUIPMENT CO. &

ITISNOT TO BE USED OR REPRODUCED WITHOUT THE PERMISSION FROM AVW CO.

DIMENSION ARE IN INCHES & PROVIDED PRIOR
TO SURFACE TREATMENTS, UNLESS NOTED.

SIZE

A

EST WEIGHT: 703 |bmass SHEET 47 of 57

PATH:L:\Designs\Product Lines\Conveyors\BCNS5 - 36" Belt\BCN5 - Middle Section\BCN5C.iam




BCNS5CA - MIDDLE SECTION FRAME

- 1 %“ - 1 %“
L 1
I |
! |
44" 42"
1 1A"—- o —t |o— 1 %“
x| x|
13" 5"
| —(x13) 2%" T %
' 120" ’ _|
39"
30" 60" ! 30" DRAIN TROUGH _
(WELDED INSIDE \
70 6%" i
! \
U | i
237/8" K H K - E 23"
23%" 43%"
]
1 1/2"
43%" 28%" 43%"
DRAWN BY Jose cusTOMER: AVW EQUIPMENT CO.
AVW EQUIPMENT CO., INC.
105 S. 9TH AVENUE
MAYWOOD, IL 60153 CHECKED BY PROJECT: BCN5 - 36" DUAL BELT CONVEYOR
Tel: 708-343-7738 Fax: 708-343-9065
WWW.AVWEQUIPMENT.COM
Qty DESCRIPTION: MIDDLE SECTION FRAME
- COMPANY PROPRIETARY NOTE - R%fTAESE 3/18/2020 PART NUMBER: BCN5CA REV# 4
THIS DRAWING AND ITS DESIGNS ARE PROPERTY OF AVW EQUIPMENT CO. &
IT IS NOT TO BE USED OR REPRODUCED WITHOUT THE PERMISSION FROM AVW CO. SIZE
DIMENSION ARE IN INCHES & PROVIDED PRIOR
TO SURFACE TREATMENTS, UNLESS NOTED. A EST WEIGHT: 684 Ibmass SHEET 48 of 57

PATH:L:\Designs\Product Lines\Conveyors\BCNS5 - 36" Belt\BCN5 - Middle Section\BCN5 - Middle Section.iam




BCNSCA - MIDDLE SECTION FRAME

g

24"

30" 30"

26" 5"

658"

11||

1 1T/ZII
DRAWN BY Jose cusTOMER: AVW EQUIPMENT CO.
AVW EQUIPMENT CO., INC.
105 S. 9TH AVENUE
MAYWOOD, IL 60153 CHECKED BY PROJECT: BCN5 - 36" DUAL BELT CONVEYOR
Tel: 708-343-7738 Fax: 708-343-9065
WWW.AVWEQUIPMENT.COM
Qty DESCRIPTION: MIDDLE SECTION FRAME
- COMPANY PROPRIETARY NOTE - R%fT‘ESE 3/18/2020 PART NUMBER: BCN5CA REV# 4
THIS DRAWING AND ITS DESIGNS ARE PROPERTY OF AVW EQUIPMENT CO. &
IT IS NOT TO BE USED OR REPRODUCED WITHOUT THE PERMISSION FROM AVW CO. SIZE
DIMENSION ARE IN INCHES & PROVIDED PRIOR
TO SURFACE TREATMENTS, UNLESS NOTED. A EST WEIGHT: 684 lbmass SHEET 49 of 57

PATH:L:\Designs\Product Lines\Conveyors\BCNS5 - 36" Belt\BCN5 - Middle Section\BCN5 - Middle Section.iam




BCNS5CA - MIDDLE SECTION FRAME

CUT TOLERANCE:

Parts List

ITEM QTY DESCRIPTION

1 1 Angle #1/4" x 1 1/2" x 1 1/2" x 120" LG.

2 5 Angle #1/4" x 2" x 3" x 2 3/4" LG

3 2 Angle #1/4" x 2" x 3" 23 1/2" LG.

4 4 Angle #1/4" x 2" x 3" x 38 1/4" LG.
8 Channel 1 3/4"x 5" x 18" LG.
2 Channel 1 3/4"x 5" x 120" LG.
16 Channel #.19 x 1 3/4" x 5" x 39" LG.
4 DRAIN TROUGH HOLDER
12 GUSSET CHANNEL #1/4" x 1 3/4" x 3" x 7" LG.
4 Plate #5/16 x 3 1/4" x 2 1/2"
4 Plate #5/16" x 1 3/4" x 2" LG.
4 SS Sheet Metal #10Ga (0.1345in) x 2" x 2 1/4" LG.

+.000
-.125

DRAWN BY Jose cusTOMER: AVW EQUIPMENT CO.
AVW EQUIPMENT CO., INC.
105 S. 9TH AVENUE
MAYWOOD, IL 60153 CHECKED BY PROJECT: BCN5 - 36" DUAL BELT CONVEYOR
Tel: 708-343-7738 Fax: 708-343-9065
WWW.AVWEQUIPMENT.COM
QT DESCRIPTION: MIDDLE SECTION FRAME
- COMPANY PROPRIETARY NOTE - R%fTAESE 3/18/2020 PART NUMBER: BCN5CA REV# 4

THIS DRAWING AND ITS DESIGNS ARE PROPERTY OF AVW EQUIPMENT CO. &
ITISNOT TO BE USED OR REPRODUCED WITHOUT THE PERMISSION FROM AVW CO.

DIMENSION ARE IN INCHES & PROVIDED PRIOR | SIZE

TO SURFACE TREATMENTS, UNLESS NOTED. A EST WEIGHT: 684 Ibmass SHEET 50 of 57

PATH:L:\Designs\Product Lines\Conveyors\BCNS5 - 36" Belt\BCN5 - Middle Section\BCN5 - Middle Section.iam




FRAME PARTS

21/2"

| 3%u

(X2) Be"
THRU

St

Plate #5/16 x 3 1/4" x 2 1/2"

Channel #.19 x 1 1/2" x 3" x 20 3/4" LG.

s4m

1/||

13/1—-

+—

1'%6"

FORMED

DOWN 90°"

1

FLAT PATTERN

Diamond Plate #1/4" x 2 5/8" x 2" LG.

17" —

20%"
DRAWN BY Jose cusTOMER: AVW EQUIPMENT CO.
AVW EQUIPMENT CO., INC.
105 S. 9TH AVENUE
MAYWOOD, IL 60153 CHECKED BY PROJECT: BCN5 - 36" DUAL BELT CONVEYOR
Tel: 708-343-7738 Fax: 708-343-9065
WWW.AVWEQUIPMENT.COM .
Qry DESCRIPTION: Diamond Plate #1/4" x 2 5/8" x 2" LG.
- COMPANY PROPRIETARY NOTE - R%‘fﬁ:‘z 3/18/2020 PART NUMBER: BCN3CAE REV# 4
THIS DRAWING AND ITS DESIGNS ARE PROPERTY OF AVW EQUIPMENT CO. &
IT 1S NOT TO BE USED OR REPRODUCED WITHOUT THE PERMISSION FROM AVW CO. SIZE
DIMENSION ARE IN INCHES & PROVIDED PRIOR
TO SURFACE TREATMENTS, UNLESS NOTED. A EST WEIGHT: SHEET 51 of 57

PATH:L:\Libraries\Productivity\Conveyor\Conveyor Frames\Parts\BCN-05A.ipt




FRAME PARTS &

1/2"

I

%“ 350||——

113°"
%"

4%"

DOWN 90°"

21/2"

O

F—or— > |O O

BCN3DB FORMED

FLAT PATTERN (X4) @" THRU

8“

%I" =350

4%"

DOWN 90°"

S 2%"

O O
FORMED L/

BCN3DA

I
RS
DOWN 90°"
N

(X4) B"
FLAT PATTERN THRU

DRAWN BY Jose cusTOMER: AVW EQUIPMENT CO.
AVW EQUIPMENT CO., INC.

105 S. 9TH AVENUE

MAYWOOD, IL 60153 CHECKED BY PROJECT: BCN5 - 36" DUAL BELT CONVEYOR

Tel: 708-343-7738 Fax: 708-343-9065
WWW.AVWEQUIPMENT.COM

QTy DEsCRIPTION: REMOVABLE TRANSFER PLATE MOUNTING BRACKET [LEH
- COMPANY PROPRIETARY NOTE - RELEASE 3/18/2020 PART NUMBER: BCN3DB REV# 4
THIS DRAWING AND ITS DESIGNS ARE PROPERTY OF AVW EQUIPMENT CO. &
IT1S NOT TO BE USED OR REPRODUCED WITHOUT THE PERMISSION FROM AVW CO. SiZE
DIMENSION ARE IN INCHES & PROVIDED PRIOR
TO SURFACE TREATMENTS, UNLESS NOTED. A EST WEIGHT: SHEET 52 of 57

PATH:L:\Libraries\Productivity\Conveyor\Conveyor Frames\Parts\BCN-02A [Rev2].ipt




FRAME PARTS

’72%"—-
4

Al

FORMED

——2'%¢"

L

FORMED

1%"

—t

%u

17||

16%"

16"
—2%" 6%"

24" 1"

1

%u

1 ~ DOWN90*

R%"

R%6"
25/8"

%"

4%6" =

FLAT PATTERN

Plate #(1/4") x 3 5/8" x 17 1/2" LG.

17||

16%"

16"

23 6%"

214"~

_UP 90° R%"

-

25/8"

A

4%6"

FLAT PATTERN

Plate #(1/4") x 3 5/8" x 17 1/2" LG.

DRAWN BY Jose cusTOMER: AVW EQUIPMENT CO.
AVW EQUIPMENT CO., INC.
105 S. 9TH AVENUE
MAYWOOD, IL 60153 CHECKED BY PROJECT: BCN5 - 36" DUAL BELT CONVEYOR
Tel: 708-343-7738 Fax: 708-343-9065
WWW.AVIWEQUIPMENT.COM [e10% DESCRIPTION: Plate #(1/4") x 3 5/8" x 17 1/2" LG.
- COMPANY PROPRIETARY NOTE - R%fTAESE 3/18/2020 PART NUMBER: BCN3AAB REV# 4
THIS DRAWING AND ITS DESIGNS ARE PROPERTY OF AVW EQUIPMENT CO. &
IT IS NOT TO BE USED OR REPRODUCED WITHOUT THE PERMISSION FROM AVW CO. SIZE
DIMENSION ARE IN INCHES & PROVIDED PRIOR
TO SURFACE TREATMENTS, UNLESS NOTED. A EST WEIGHT: SHEET 53 of 57

PATH:L:\Libraries\Productivity\Conveyor\Conveyor Frames\Parts\BCN-10A.ipt




FRAME PARTS

1%“
%s" "
1%" /—1/2-13 UNC - 2B" THRU 1
5, 16“—|—_—| e 1/2|| — —
] a | 77" |
9/16“ ] K\
2“
A4 11 k
1 /8“ 23/16" 1||
@ ] e
¢%u
| 7 ~ f\ R%" THRU
R e % Plate #5/16" x 1 3/4" x 2" LG.
Plate #5/16" x 1 1/2" x 2 3/16" LG.
|—— 1 /4——|
' 215" b5
| . 2 1 %n
1/8" e 1/2" 1 " 1/2" -
11/8“ —_—
l . [ ) FORMED
| o O
Z " 1|| 3%“
R1% | . S (x2) %"
2" [ oowNeeTT | THRU
R‘]/ZII 1 1/8"
- \ ,\
(X2) 1/2-13 UNC - 2B" THRU R%"
Plate #5/16" x 2 1/2"x 3 1/4" LG FLATPATTERN
atle X X . . " "
SS Sheet Metal #10Ga (0.1345in) x 2" x 2 1/4" LG.
AVW EQUIPMENT CO., INC. DRAWN BY Jose cusTOMER: AVW EQUIPMENT CO.
105 S. 9TH AVENUE
MAYWOOD, IL 60153 CHECKED BY PROJECT: BCN5 - 36" DUAL BELT CONVEYOR
Tel: 708-343-7738 Fax: 708-343-9065
WWW.AVWEQUIPMENT.COM
Qry DESCRIPTION: Plate #5/16" x 1 1/2" x 2 3/16" LG.
- COMPANY PROPRIETARY NOTE - RELEASE 3/18/2020 PART NUMBER: BCN3BAA REV# 4
THIS DRAWING AND ITS DESIGNS ARE PROPERTY OF AVW EQUIPMENT CO. & DATE
IT IS NOT TO BE USED OR REPRODUCED WITHOUT THE PERMISSION FROM AVW CO. SIZE
e e scnes srovoearmon |5 | corweion SHEET 54 of 57

PATH:L:\Libraries\Productivity\Conveyor\Conveyor Frames\Parts\BCN-01A.ipt




FRAME - Parts

3%“

2%6"

FORMED

36" 3%"
L —R1"
| i TYP.
_____T_____DQVMQOL__________
1
2||
42"

FLAT PATTERN

ITISNOT TO BE USED OR REPRODUCED WITHOUT THE PERMISSION FROM AVW CO.

36"
31%"
31" |
"Wie"
| 4 _DOWNO9O " __ ]
t
DRAWN BY Jose cusTOMER: AVW EQUIPMENT CO.
AVW EQUIPMENT CO., INC.
105 S. 9TH AVENUE
MAYWOOD, IL 60153 CHECKED BY PROJECT: BCN5 - 36" DUAL BELT CONVEYOR
Tel: 708-343-7738 Fax: 708-343-9065
WWW.AVWEQUIPMENT.COM
QT DESCRIPTION: Plate #1/4" x 5" x 42 1/2" LG.
- COMPANY PROPRIETARY NOTE - R%‘fﬁ:‘z 3/18/2020 PART NUMBER: BCN5-04A REV# 4
THIS DRAWING AND ITS DESIGNS ARE PROPERTY OF AVW EQUIPMENT CO. &

DIMENSION ARE IN INCHES & PROVIDED PRIOR
TO SURFACE TREATMENTS, UNLESS NOTED.

SIZE

A

EST WEIGHT:

SHEET 55 of 57

PATH:L:\Libraries\Productivity\Conveyor\Conveyor Frames\BCN5 - 36in Dual Belt Converyor\Parts\BCN5-04A.ipt




BCN5CAS - DRAIN TROUGH

2%"—
12 Ga. 27"
(0.1046)"
FORMED
43%"
21"
s sy b o4 DOWNSOr e e
2131/16"
FLAT PATTERN
AVW EQUIPMENT CO.. INC DRAWN BY Jose cusTOMER: AVW EQUIPMENT CO.
105 S. 9TH AVENUE.’ ’ .
MAYWOOD, IL 60153 CHECKED BY PROJECT: BCN5 - 36" DUAL BELT CONVEYOR
T W AVWEGUIPMENT GOM
QT pescrIPTION: DRAIN TROUGH
- COMPANY PROPRIETARY NOTE - R%‘fT‘}ESE 3/18/2020 PART NUMBER: BCN5CA8 REV# 4

THIS DRAWING AND ITS DESIGNS ARE PROPERTY OF AVW EQUIPMENT CO. &

ITISNOT TO BE USED OR REPRODUCED WITHOUT THE PERMISSION FROM AVW CO.

DIMENSION ARE IN INCHES & PROVIDED PRIOR
TO SURFACE TREATMENTS, UNLESS NOTED.

SIZE
A EST WEIGHT:

SHEET 56 of 57

PATH:L:\Libraries\Productivity\Conveyor\Conveyor Frames\BCN5 - 36in Dual Belt Converyor\Parts\BCN5CAS8.ipt




BCN-3CA12-2021 - DRAIN TROUGH
HOLDER

Parts List

450" %ll
2%y R
()" )
%"
6%s"
%" — _3/8"
%“ | _3/8"

211
%n 11/2" %n
|/~ RYd"
R11e"—:; R%6" F
R o
RY%"— : ( I
;%Gn_. |__1/2ll %u 1/2"__ __;%Gn %"

ITEM QTY DESCRIPTION
1 1 |SS Sheet Metal #10Ga #(0.1345 in) x 3 1/2" x 6 1/16" LG.
10 Ga. 2 1 |SS Sheet Metal #10Ga (0.1345 in) x 1 1/4" x 2" LG.
(0.1345)"
/M M l
1 1]
f T
(11>" O O
31/"

10 Ga.
(0.1345)"

SS Sheet Metal #10Ga (0.1345in) x 1 1/4" x 2" LG.

DRAWN BY Jose cusTOMER: AVW EQUIPMENT CO.
AVW EQUIPMENT CO., INC.
105 S. 9TH AVENUE
MAYWOOD, IL 60153 CHECKED BY PROJECT: BCN5 - 36" DUAL BELT CONVEYOR
Tel: 708-343-7738 Fax: 708-343-9065
WWW.AVWEQUIPMENT.COM
QT pescrIPTION: DRAIN TROUGH HOLDER
- COMPANY PROPRIETARY NOTE - RELEASE 3/18/2020 PART NUMBER: BCN-3CA12-2021 REV# 4
THIS DRAWING AND ITS DESIGNS ARE PROPERTY OF AVW EQUIPMENT CO. &
IT 1S NOT TO BE USED OR REPRODUCED WITHOUT THE PERMISSION FROM AVW CO. SIZE
DIMENSION ARE IN INCHES & PROVIDED PRIOR
TO SURFACE TREATMENTS, UNLESS NOTED. A ESTWEIGHT: 0 Ibmass SHEET 57 of 57

PATH:L:\Libraries\Productivity\Conveyor\Conveyor Frames\Parts\BCN - Drain Pan Holder\BCN-DPH.iam




